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2.1 FMEZEREFRE D AHAERKD @B FFHs
B OA=AE .

WP2.1

(&) @ PTEAPER
R=5.8 kN 29°
o =AFEA
HE R dikE
R'=5"+(3.5)"—2(5)(3.5) cos 85°
R=5.8kN
FE FH 1F 3% o
5 5.8

sin (a+30°) sin85°
sin( @+ 30°) = 0.859
a+30°=59.1°
a=29.1°

# R=5.8kNL 29.1°
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2.2 HEfEREFRANBEHTEELD  @BFTMOS
B 0RA=/A%MN.

IR @ FARABER
_ F=690 16 £ 50°
m =il
R*= 450*+ 300° - 2{450)(300) cos 140°
R=17071b '
BEAEXER
300 707

sina " sin 140°

sina = 0.27

a=15.8°

B=a+35°=50.8°
# R=170714 50.8°
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WHBheyHhE 8 kN, HHC
BHR 12 kN AEARE RMERE
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[##) T;=8kN
To =12 kN
R=17 kN [ ose

2.5 BMAIBS bAHTRRBBc-a BB b-b HABS
H.BamikRae-apgFFHB 400 b , A=AERAa« .
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F - Fn
sin60° sin(120°— a)
500 400
sin60° sin (120°— a )
"D a=76.1°

2.6 MXPRWOONSHFFMEERc-aRR 0-0HRES
H.ERBRRI-IHFHHBISON, A=AERAa .

{ﬂ] I.?ir:“OON;‘Ft:“ﬁu'*—?o’Fe=150N b

F _F,
-sin 60° sina
400 150
sin§0® sina
= a=18,95"
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120 P

8in 30°  sin 25°
= P=101N
R _ 120
sin 125° sin 30°
R=196.6 N

2.8 FFBEENEE—MERE ., R ABRSENIR
400 1b, a BB 20° . EAKEAMBRAR OB AN PN RN
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A oa

MP2.8P2.11

[#] T.p =400 Ib
TJO’ T&l
() : - .,
sin 30° sin 20 Tu
T 400 - T
> - D R
sin 30 sin 20 <X : R
=> Tac =585 b
T
T R
) ==

sin 20° sin 130°
400 R
= - - == .
sin 20 sin 130
= R=28961Ib
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2.9 BRRABPHRENR 2.4 kN, a=25° , RMBE
2.8, .
[#%] Tww=2.4kN

Tan ’ T,ao
“sin 25°  sin 30°
2.4 T

.sin 25°  sin 30°

= Tu=2.8kN

R T.
sin 125°  sin 25°
R 2.4

= sin 125°  sin 25°
= R=4.65kN

2.10 BFa=40" , RFEHE2.7

P 120
£ = ' P
(%1 @ sin 25°  sin 40° 4 R
= P=178.9N 15"
R 120
® Gniis sin40° 120N ‘51

= R=169.2N
2.11 MR K — s NE , MER R . 288K AB R
HE500 b, B=HERFACHHE N HeE . EMEABESD

£ 800 1b, 77 /1 EEH .

§. T.s=5001b, R= 800 Ib
R _ T
sin(150°— &« ) sine
800 500

sin{(150°~a ) sina
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= (8+5cos 150°) tana.= 5 sin 150°
= tana=0.681
= «a=34.3"
T
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sin 30°  sin 34.3° a_ R
o _Tw_ __500 Ta

sin 30° sin 34.3°
= Tuw=4441b
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[#] R=160N
B=180°~ 25"~ a=155° —~«
FpERER P
_l20 R
sina sin g

120 _ 160 120N
sina sin(155— a)

(3 cos 155° +4 ) tana = 3 sin 155°

a= 44.7°

p 120

sin 25° sina

P 120

i =

sin 25° sin 44.7°
= P=72.1N.
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= R=5.8kN

5 5.8
sif(a+ 30°) sings®
=> a=29.1°

R=15.8 kN £ 29.1°

2.14 A=AERMEP2.14 FRsAHBEHKRAIRTE .

P2.14

(M1 REER

R*=200"+ 300° — 2(200)(300) cos 110°
= R=4141b

> B=90°—a=72°
= R=4141b Z_ 72°

E&ER
R 300
sin110°  sin (25°+ a )
414 300 H
= 110°  sin(25°+ a) :
> a=18" :.
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P 120

sin 25° sin a

[#)

P 120 sin 25

= -
sinea
. ﬁo
dP — 120 sin 25° cos a 120N
{a) — = = — -
de sina
> cosa=0, a= 90" £
v s <
P =120 sin 25° !
' 120N \25°
=50.7N
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(&) HE(b) x7E(ObL) y&EAD)
60 49.1 34.4
45 25.8 36.9
75 48.2 -57.5

217 R P2.17EhFRBENH Ry T .



10 IEARBHR (BHRE) EE

i
0N
BN
B oamN
- 6 ,‘ﬁt
p i -
§
EP2.17 ] ’
(%1 HBE(N) =58(N) y5&(N) 800N
600 — 300 520 600N N
o ON
800 274 752 5 7%
60° 25°
350 317 148 ’ ol
2.18 kP2 1sWhH L hBHsEmyY 5h.
.
8 A
‘\‘ﬂnﬁ e
150 mm ; = 1400 m
530N
I—Wm:l! 225 mm
) WP2.18
[®&] HE(N) x5&E(N) yHEN)
510 —240 450
530 450 280
2.19 R P2.19 M FRMHE Toson—y
NBxEYyS D, T ‘/“
2in. /;sl.b
o
"."!n. T ¥
p-— 24 in.

B P2.19



HBTE HEBIE 11

{1 OA=+/20"+21"=29,0B=v24"+72=25
= HE({b) x7E(Ib) yoE(IL)
58 40 42
75 72 -21
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HMRECBHAHP . CAPLERAE 200 Ib@KEST D . AR @A
Pk mEBEEZ N

MP2.20
[ (@ Psin50° =200 200 1b
= P=2611b
B P,=-Pcos50° |
=~ 261 cos 50° R »
=-167.8 Ib
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[ #) 600 =P sin 30°
= P=120N AL
EENDF 2SR P, /
P, = Pcos 30° D f?’/
1200 cos 30° Ase:
= 1039 N

2.22 BREROHNEDPREIIT0 b ARBEC REE LD
HATREESD .

mP2.22
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17.5

[#&] tana = » C=3701b

> a=71.1° 17.5

c.=-C cbsa=-—370 cos 71.1°
=—1201b _

C,=Csina = 370 sin71.1°

= 350 Ib '
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[ %) C=365N
¥
550
tan ¢ =——
480
-': a = 48.9° [
C.=C cos a = 365 cos 48.9° 550 mm
=240 N
C,=Csin a = 365 sin 48,9° 480mm *
=275N

2.28 BBy HRBEE2.2 .
(%] HE(L) *H&(ID)  y4 (D)
300 77.6 290
450 368.6 258.1
R,=446.2 R, =548.1
R=+/(446.2)7+ (548.1)*= 707 1b
548.1
446.2
R=1707 1b £_50.8°

tan a =

» a=50.8°

2.2 xRy ohHhMEE2.1 %
(%] HE(KN) <28(kN) yoR(kN)
5 2.11 4.53
3.5 3.03 —1.75
R,=5.14 R,=2.78
R=+(5.14)"+ (2.78)" = 5.8 kN




